MP HTO™ 300

— 3" x 2-1/2" End Suction Centrifugal Hot Oil Pump

by Gardner Denver

HTO300 is a patented, unique centrifugal pump designed for high
temperature applications, such as the plastics, chemical, food and processing
industries. The pump can be used in horizontal or vertical positions and is
available with or without an electric motor. It is designed to greatly reduce
the temperature at the seal by utilizing ambient air temperature which greatly
increases seal life.

Want to learn more about using pumps with heat transfer fluids? Click here to
view “Using Pumps with Heat Transfer Fluids” an article featured in Process
Heating Magazine written by MP Pumps’ Chief Engineer.

Application
. « Industrial
SPECIFICATIONS: o
Suction And Discharge 3" x 2-1/2" ANSI 150¢# flat flange Drive Sleeve
Materials Of Construction Ductile iron « 303 stainless steel
Flow Up to 500 GPM
Head Feet Up to 190
Impeller 7.0" cast iron, enclosed
Motor Up to 20 HP
Drive Options Close coupled 184TC, Close coupled
215TC, Pedestal, PumPAK® (without
motor)
Seal Carbon / silicon carbide / Viton, Optional

severe duty seal available

Temperature 650°F max



HTO™ 300

CUBIC METERS PER HOUR
0 20 40 60 80 100 120
MODEL __MTO 300
SIZE 3X2.5
N - pr - * s-G- -185 4 60
2001.00 DIA.J50% 5650 g5 of | SPEED 3500 RPM_
\\ N 5\ 0__ y
N ~\ \L 1\4!%
Pslielz N - ‘\ K\\ N T 50
_1807g ag T IC R EANNN L]
d K I SRNEEERL
N NiERR \ NETR88 40
N \ LY /'\\\
S120(5.70 N e S
> [5:50 = < N TS0 .
5 P NN SR R AR B i
E 80 ‘J HP ' w\\ ™ ) N <zl N \ \\1 %
ARNBY ; - - | NPSHR| |,
\\ ‘s/ < \ \\ ~ T
1SS RSEANA \){ S 30 FT
\’E h N\ -
40 . SN 20 Lo
NPS'HH ________._—--—' ‘\ | 1O
l Y757 |
0 80 160 240 320 400 480 560
GALLONS PER MINUTE

34800 BENNETT - FRASER, MI 48026-1686
@ (586) 293-8240 - FAX (586) 293-8469

HTO™ 300
(800) 563-8006 - www.mppumps.com

TOTAL HEAD - METERS



HTO™ 300

CUBIC METERS PER HOUR

0 20 40 60 80 100 120
MODEL,__HT0300
SIZE 3X25

I l S.G. 85 lgo

20013500 RPM 180% 5575 g7 I SPEED___VARIES
ST R 70050 IMPELLER DIA. _ 7.0
-~ ""'-.L ;

160 \\ \\ \\\ N N “50&)
ll:l ) N L \ \\\ \\\ S 12% E
w [ [} 1 \ LI TR0 L
it 2850 ] e T IS8T 140 =
NI n S N e P VB 2
I ‘\‘ o A : " s \ ~\ \/‘/ : '55 1 30 Ii.[
= e RN \\ T\ SN AT \<// R 2

N X i\ = P N\ B0/
6 80 NN E T LN P R NPSAR| |5
. N N /\>¢ \ ',/)K AN 30FT T20F
| 1750 RPM NHN! K| A REAYAR
N )( >< L1 \\\\ /K\ y 20 HP
40 S AR N 20
- 3 A o l \‘\ 'lE T 10
NPSHR ShYE=ms X 10
SEH e et
0 80 160 240 320 400 480 560
GALLONS PER MINUTE C/N5150

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

HTO™ 300



HTO™ 300

HTO SEAL COOLING PERFORMANCE
350

AMBIENT TEMPERATURE RANGE
70 - 110 FAHRENHEIT

300

SEAL TEMPERATURE (FAHRENHEIT)
N
ul
o

n
o
o

150
250 300 350 400 450 500 550 600 650 700

BULK TEMPERATURE (FAHRENHEIT) C/N 5207-1

P 34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469 HTO™ 300
(800) 563-8006 - www.mppumps.com

PUMPS

by Gardner Denver



o
o
™
=

o

@)
=
L

3.00 SUCTION FLANGE
ANSI CLASS 125 Cl

2.50 DISCHARGE FLANGE

3.62

6.47

ANSI CLASS 125 Cl

6.57

T
L

213T¢, 215TC ;}r 2
ELECTRIC

-

}

0TOR

) sLors—|

56 (4

12.00

[ 70 |

g
@
=
3
2
w

(4) PLACES

21/32 THRU

3.00 SUCTION FLANGE

ANST CLASS 125 CT

x

2,50 DISCHARGE FLANGE

ANST CLASS 125 CT

, U.S.A.
i
r

21/32 THRU
(4) PLACES

e
cx. [ o0

F R
—| HTD SERIES 300 (INST)] 35230

)

N

H-\\~\“

/

'. 3,50

18.15:
(215 TO)

3.13

OTOR REMOVAL

E.

o
&
&
IS
5
&

=
&
&
G
o
o

=]
2
e

34800 BENNETT - FRASER, MI 48026-1686

HTO™ 300

(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

mP

PUMPS



HTO™ 300

ITEM NO. | PART NO. DESCRIPTION QTy. ITEM NO. | PART NO. DESCRIPTION QTY.
1 41479  1/2" NPT PIPE PLUG PLATED STL 2 1 33810 CAPSCREW ZPS - 1/4-20 X 1.75 1
2 26733  HOUSING FLAT FLANGE 1 12 21241  HEXNUTS.S. - 1/4-20 1
3 25168 HEX JAM NUT S.S.- 5/8-18 1 13 33274 SHIELD ZPS 1
* 4 31519  GASKET: 7.8X7.27X.03 GARLOCK 9850 1 14 30841 O RING - VITON 1
5 29823  IMPELLER C MACH: HTO-300 @7.0 1 15 29826 SNAP RING STL: 1.387X.05 1
6 29828 ADAPTER D MACH: HTO 300 1 16 34933 SEAL ASSY. T-2 1
7 30626 LOCK WASHER SS 3/8 X 1/8 8 17 29830 SEAL HSG D - HTO-300 1
8 41256 CAPSCREW STL: HH 3/8-16X1.0 GR.5 8 18 30824 PIPE PLUG STL. - 1/8" NPT 1
* 9 29825 GASKET: 3.98X3.23X.03 GARLOCK 3 19 21277 CAPSCREW SS:HH 3/8-16 X 2 3
* 10 30842 ISOLATER 2 20 29822 DRIVE SLEEVE SS 215TC 1
21 29833 CLAMP FAN 1
22 27261 WASHER STL. 2
*RECOMMENDED REPLACEMENT PARTS 23 29831  KEY STL. - 5/16 X .50 1
24 30264 CAPSCREW STL. - 5/16-18 X 1.25 2

34800 BENNETT - FRASER, MI 48026-1686
P (s56) 2038240 - FAX (586) 293-8469

HTO™ 300
(800) 563-8006 - www.mppumps.com

PUMPS

by Gardner Denver



HTO™ 300

ITEM NO. | PART NO. DESCRIPTION QTY. ITEM NO. | PART NO. DESCRIPTION QTY.
1 41479  1/2" NPT PIPE PLUG PLATED STL 2 14 29826  SNAP RING STL: 1.387X.05 1
2 26733 HOUSING FLAT FLANGE 1 * 15 34933 SEAL ASSY.T-2 1
3 25168 HEX JAMNUT S.S.- 5/8-18 1 16 29830 SEAL HSG D - HTO-300 1
' 4 31519 GASKET: 7.8X7.27X.03 GARLOCK 9850 1 17 30824 PIPE PLUG STL. - 1/8" NPT 1
5 29823 IMPELLER C MACH: HTO-300 @7.0 1 18 21277 CAPSCREW SS:HH 3/8-16 X 2 3
6 29828 ADAPTER D MACH: HTO 300 1 19 29822 DRIVE SLEEVE S.S. 1
7 41553 HEXNUT STL. - 1/2-13 4 20 29833 CLAMP FAN ASSY. 1
8 41387 L'WASHER ZPS - 1/2" 4 21 34889 BEARING HOUSING C 1
9 30626 LOCK WASHER S.S. 3/8 X 1/8 8 22 34350 WASHER FLATS.S. - .50 4
* 10 29825 GASKET: 3.98X3.23X.03 GARLOCK 3 23 34890 CAPSCREW STL.- 1/3-13 X 2.5 GRADE 5 4
11 41256 CAPSCREW STL: HH 3/8-16X1.0 GR.5 8 24 31804 BALL BEARING SEALED 2
i 12 30842 ISOLATER 2 25 34891 SHAFT S.S. 1
* 13 30841 ORING - VITON A 26 33232 SQKEY:1/4 X 1/4 X 2.00 1
27 31803 SNAP RING STL.- N5000-334 1
*RECOMMENDED REPLACEMENT PARTS
34800 BENNETT - FRASER, M| 48026-1686
MP  (556) 2035240 - FaX (586) 293-8469 HTO™ 300

by Gardner Denver (800) 563-8006 - www.mppumps.com


http://www.tcpdf.org

